English

Choose the correct answers.

1. A flies.

A. Cat B. Crow C. Cow
2. The baby of a dog is called a

A. kitten B. Puppy C.cub
3. Elephants and tigers live in a

A. Pond B. house C. Forest
4. The has a red beak.

A. Peacock B. Parrot C. Crow
5. build their nests on tree.

A. Birds B. Spiders C. Dogs
6. Moti jumped the puddle.

A. Over B. Beside C. Inside
7. My dog ran the gate.

A. over B. outside C. Inside
8. Shubha and her mother are the room.

A. inside B. over C. outside
9. Atif fell the cat.

A. over B. inside C.on
10. The parkis my house.

A. outside B. over C. inside

D.

. Dog

. horse

. Desert

. Pegion

. cat

. outside

. Behind

Between

. outside

. behind
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Robin was his room.

A.on B.in C. inside D. outside
He was sitting the bed.

A.on B.in C. over D. inside
Suddenly, he saw a grey puppy his window.

A.on B. over C. inside D. outside
Three men are sitting the tree.

A.in B. on C. under D. outside
Birds are flying the sky.

A. in B. on C. inside D. outside
The fruit seller is sitting a bench.

A.in B. on C. inside D. beside
Add -s and -es to these words (from 17 to 26).
Glass

A. glass B. glasses C. all of these D. none of these
Bench

A. benchs B. benches C. all of these D. none of these
Cup

A. cups B. cupses C. all of these  D. none of these

Bag

A. Bags B. Bug C. all of these D. none of these
Sketch

A. Sketchs B. Sketches  C. all of these D. none of these
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22. Torch
A. torchs

23. Classes

B. torches

A. classes

24. Dog
A. dogs

25. Cat
A. Cats

26. Pencil
A. Pencils

B. glass

B. dogses

B. Cut

B. Pen

C. all of these

C. all of these

C. all of these

C. all of these

C. all of these

D. none of these

D. none of these

D. none of these

D. none of these

D. none of these

27. Jai and Raja went for a walk. It was a cloudy day. Raja said,

think it is a very nice day.

Al B. He C. She
28. The mouseis a animal.

A. Small B. Big C. Long
29. Saima had a book shelf.

A. beautiful B. Small C. Long
30. Ineeda rope.

A.long B. beautiful  C. strong
31. Sheisa girls.

A. Strong B. small C. long
32. Thatisan watch?

A. expensive B. strong C. Short

D. They

D. Short

D. Strong

D. expensive

D. big

D. long
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33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

The apples are

A. Red B. Green C. Yellow

There are many watermelons.

A. Yellow B. Green C. Red
The Pineapples are in colour.
A. Blue B. Red C. yellow
A man is wearing sunglasses.

A. Black B. white C. Yellow
The Sky is

A. Blue B. Red C. Yellow
The first day of the week is

A. Sunday B. Monday C. Tuesday

is a holiday.
A. Monday  B.Saturday C. Sunday
The Sixth day is

A. Friday B. Sunday C. Saturday
We together.

A. Play B. Sings C. Dances
Geeta everyday.

A. Sings B. play C. Sleep
I at 10 pm.

A. Sleep B. Sings C. dances
The dancer very well.

A. Dances B. Play C. Sleep

. Blue

. Blue

. Green

. Green

. White

. Wednesday

. Friday

. Thursday

. Wears

. Wears

. play

. Sings

Page 5




45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

My mother always a sari.

A. Sings B. Play C. Dances
She Chocolate.

A. Love B. loves C. All of these
Rahim to school everyday.

A. Go B. goes C. Come
Babies when they are hungry.

A. Cry B. cries C. love
The women loudly.

A. laugh B. laughs C. play
Jyoti and Jaya Painting.

A. like B. likes C. laugh

Math

Tick the missing number [2,3,4,5, » 7]

A.5 B.1 C.6
Tick the smallest number

A. 85 B. 76 C. 89

Which is the correct ordinal name of 3rd

A. Third B. Fourth C. Three
Tick the number before 39is -

A. 37 B. 38 C. 36
The number just before 18 is

A.6 B17 C.9

D.

. Wears

None of these

. gone

. comes

. Sings

. dances

.90

. Fifth

.32

.10
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56. Which is the correct number name for (15)?
A. Fifteen B. Seventeen C. Thirteen D. Twenty

57. 2tensisequalto
A. Two B. Twelve C. Twenty D. Three

58. The biggest number among 56,28,68 and 39 is
A. 56 B. 28 C. 68 D. 39

59. The sum of 4+5 is
A.3 B.7 C.10 D.9

60. Tick the correct one
A.3+3=| 7 B.4+4= | 8 C.3+0=19 D.7+4=| 1

61. Which of the following number subtraction is correct
A.10-10=20 B.7-4=4 C.8-3=9 D. 4-2=2

62. Tick the number that comes before 8 in words -
A. Eight B. Ten C. Seven D. Two

63. On subtracting 40-40, we get
A. 1l B.0 C.20 D. 10

64. 10 girls are skipping rope. 10 more girls join these. Now girls

are skipping rope
A. 10 B.5 C. 15 D. 20

65. Find the expanded form of 35
A. 30+5 B. 30+8 C. 30+2 D. 30+0

66. The sum of 40+50 is
A. 100 B. 70 C.90 D. 80
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67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

What comes before 10
A. 8 B.7 C.9 D. 10

On subtracting 30-20, we get
A.0 B. 20 C.10 D.1

Arun saw 16 ducks. 8 duck swam away. Now Arun can see
ducks
A.8 B. 14 C. 10 D. 12

Which of the following number sentence is correct?
A. 15-4=11 B. 9+3=15 C.22-3=21 D. 10-10=20

The sum of 445 is

A.9 B. 10 C.7 D.3
After 3 =
A. 4 B.3 C.2 D.5

Tick the correct one
A. 4+4=8 B. 3+0=9 C. 5+5=12 D. 3+3=7

Which number is 5 more than 50?
A. 55 B. 60 C.65 D. 60

The sum of 40+40 is
A. 90 B. 80 C.70 D. 100

The sum of 2+3+2 is
A.7 B. 10 C.5 D. 8

Which is correct one?
A. 81 B. 8>2 C. 83 D. 84
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78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

The number just before 14 is
A. 13 B. 15 C. 16

Which is the correct number name for (19)?

A .Fifteen B. Seventeen C. Thirteen

Find the standard form of 4 tens 6 ones’
A. 46 B. 40 C. 36

There are __ days in a week

A.7 B.4 C.10
June is the month of the year
A. Sixth B. Ninth C. First

How many month are there in a Year?
A. .12 B.7 C.8

Tick the correct name of Rs. 50 in words
A. Fifty B. Seven C.Ten

The numerals for one hundred forty nine is
A.194 B. 149 C. 109

4+3=
A.6 B.7 C.8

Find the standard form of 6 tens 6 ones’
A. 47 B. 66 C. 65

5-3=
A. 2 B.3 C.4

Tick the smallest number

D

D

D

.17

. Nineteen

. 64

. Third

. Nine

. 139

Page 9




90.

91.

92.

93.

94,

95.

96.

97.

98.

99.

A. 74 B. 22 C.34 D.

Count the number of letters and tick the correct one

A.7 B.9 C.12 D.
Before 9 =
A.7 B.8 C.5 D.

On subtracting 20-10, we get

A. 10 B. 20 C. 15 D.

Which of the following number Sentence is correct

A.9-2=6 B.4-2=4 C. 3-2=1 D.

8+8 =

A.7 B. 16 C. 20 D.

The sum of 949 is

A. 19 B. 18 C.17 D.
Before 7
A.6 B.5 C.7 D.

What number is 7 more than 60 is

A. 67 B. 64 C. 68 D.

The sum 50+50 is

A.90 B. 80 C. 100 D.

On Subtracting 30-15, we get

A. 10 B. 15 C.24 D.

100. After 11 =

A.13 B. 12 C.14 D.

25

REGENCY

14

25

2-2=4

21

14

69

95

23

15

Page 10




SPACE FOR ROUGH WORK
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